EARAROBEEIERT — 2 N— IBISH —F

2014528230 (H) 17E=H28

mé‘z}“t; COERDIER C2 HIR—fB EEE R
[AE4£] 1% :120,000  ~ 2#%:30,000 ™  33%&:15000 M . 43&:10,000 57 :6,000 @
B ®RBE mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. N =g : —5-1- — TEE (5
1 6| FU—LEZZR # 8 éﬁﬁ_ﬂéﬁﬂ 1.(3_2).8 7-5-1-1 | 40.0 1| 509 fgﬂgﬁé (@50
R:V—NFAYLF— BALCHE—H— | Fiemas
o S wEILRE :33. -8-5- . - MAREE) (BH)
N | By e | ewes el - 4| lrey
R:F4—=TANNT7 b B:INTLAY HEI77—L4
s = o [BEREE : -3-3- - HARE (SH)
305|547y FXLZ i 6 mn (17;32% 3-3-3-3 | 40.6 3 <3+921) %g%ﬁ
SANRTNGR BT RIIN pakyec)
N = FiENllEGIN : —1-1- — KEZER (FH)
4 o | RNFT 1552 3 2 1.(313).8 1-1-1-2 | 41.1 2 (4:1‘3 FHe
R:H YRG5 B:HI5T144—L wr fx
= hFEED :34. —6-7- . — REAR— (FH)
5 4|1 IO- LI o (12314/23) 6-6-7-7 | 41.1 6 ;1357) %thg#
L:Fq>N=H>h)— B:T7O-FLNAZZX FEv Y e ]
. SES :34. -3~ . = mERE= (FH)
6 3| HE/TTEX 7 Bl (11314/26) 2236 | 41.7 5 (4_475) s
L:Fao>8) BioAF—INIL EeR BEF
N - KFERE :34. -7-9- . - KBS (BH)
Jlglo| 71717y x- it 4 e 1(7311:? 4-7-9-8 | 40.7 7 <4+233) ELEEH@
RBALINT Ry IR BI—Y2N—F 41— Wi i
S 5 | EEBH 1:35.1 8-9-8-9 |41.3| — 9 533 | AL L (EH)
glg|g| 7LN—wMF - 5.0 (21/2) Ge | B TYREZH
R:T7IxA2¥AL BIVUEII=— IJwILTRIXA b
NI BT =] :35. -3-5- . — BIFFRET (FH)
9|11 |T—¥>¥a—-77 o4 56.0 (1739571) el b 8 :1:121) /J\ET%}*;:)\
R:T79v 724K B:I—-YrvUR-—H it i
® I—F—@EBIERL
|S=7r= 2,3,5,(1,9),4,6,8,7
20—7— 2,3,(1,5),6,4,9,7,8
33—+— (2,6),(3,5),(1,7),4,8,9
41—F— 6,2,(5,7),1,3,4,9,8
[ RN
B 6 130M 794K 6-7 280 % E 6-7 770M &R 5-6-7 1,950
# B 6 100 5-6 100F4 B E 6-7 550 EE 6-7-5 4,530
7 270/ 5-7 1,940H B H 6-7 870M
5 170

ABICOVWTRDTEEERROODE. TR LIV,




